

## POLYNOMIAL EXTREMAL PROBLEMS IN $L^p$

E. BELLER<sup>2</sup>

ABSTRACT. For  $p > 2$ , let  $m_{p,n}$  be the minimum of the  $L^p$  norm all  $n$ th degree polynomials  $\sum^n a_k e^{ikt}$  which satisfy  $|a_k| = 1, k = 0, 1, \dots, n$ . We exhibit certain polynomials  $P_n$  whose  $L^p$  norm ( $2 < p < \infty$ ) is asymptotic to  $\sqrt{n}$ , thereby proving that  $m_{p,n}$  is itself asymptotic to  $\sqrt{n}$ . We also show that the sup norm of (essentially) the same polynomials is asymptotic to  $(1.1716 \dots) \times \sqrt{n}$ .

**1. Introduction.** Behind a number of polynomial extremal problems lies the following crude question: How close can we get to a situation where  $P(z)$  is a polynomial of degree  $n > 0$ , which, on the one hand, has coefficients of constant modulus, and on the other hand,  $|P(z)|$  is constant for  $|z| = 1$ ?

Actually, for each  $p > 0$ , one can formulate a precise  $L^p$  interpretation of the above question. Let  $\mathcal{P}_n$  be the class of all  $n$ th degree polynomials  $\sum_{k=0}^n a_k z^k$  such that  $|a_k| = 1, k = 0, 1, \dots, n$ . For  $0 < p < \infty$ , let

$$M_p(f) = \left( (2\pi)^{-1} \int_{-\pi}^{\pi} |f(e^{i\theta})|^p d\theta \right)^{1/p}$$

so that for  $f \in \mathcal{P}_n, M_2(f) = (\sum_{k=0}^n |a_k|^2)^{1/2} = (n+1)^{1/2}$ . Let  $M_\infty(f) = \sup_{|\theta|} |f(e^{i\theta})|$ . From Hölder's inequality we can conclude that

$$(1) \quad M_p(f) \leq M_q(f) \quad (0 < p \leq q \leq \infty).$$

For  $p > 2$ , the problem is to minimize  $M_p(f)$ . Let

$$m_{p,n} = \min_{\{f\}} M_p(f) \quad (f \in \mathcal{P}_n).$$

By (1) we have  $M_p(f) \geq M_2(f) = (n+1)^{1/2}$ , so that  $m_{p,n} \geq (n+1)^{1/2}$ .

Received by the editors July 29, 1970.

AMS 1970 subject classifications. Primary 30A06, 42A04.

Key words and phrases. Close to constant polynomials, coefficients of constant modulus, extremal polynomials,  $L^p$  norms of polynomials, sup norm of polynomials, Fresnel integral, van der Corput's lemma.

<sup>1</sup> The material in this paper constitutes a portion of the author's Ph.D. thesis at Yeshiva University.

<sup>2</sup> This research was partially supported by NASA under Grant NGT 33-023-003, and by Grants AFOSR 1077-66 and NSF GP 6888.

Copyright © 1971, American Mathematical Society

Now, in order that  $M_p(f)$  be [close to]  $(n+1)^{1/2}$ , the inequality  $M_p(f) \geq M_2(f)$ —and therefore the underlying Hölder inequality—must be [close to] equality, i.e.,  $|f(e^{i\theta})|$  must be close to constant.

The main result of this paper is that, for  $2 < p < \infty$ ,  $\mathbf{m}_{p,n}$  is asymptotic to  $\sqrt{n}$  as  $n \rightarrow \infty$ , so that, in this sense, our original question is answered. The problem of the minimum of the sup norm, i.e.,  $\mathbf{m}_{\infty,n}$ , is more elusive. It has been known for more than 50 years that  $\mathbf{m}_{\infty,n}$  satisfies  $\mathbf{m}_{\infty,n} \leq c\sqrt{n}$ ,  $c$  an absolute constant (see Zygmund [7, Theorem 4.7, p. 199] and J. E. Littlewood [5, p. 27]). Littlewood [3], [4] showed that  $\mathbf{m}_{\infty,n} \leq (1.35)\sqrt{n}$ . But P. Erdős [2] conjectured that  $\mathbf{m}_{\infty,n}$  is not asymptotic to  $\sqrt{n}$ , and that, in fact, there exists an absolute constant  $A > 0$  such that  $\mathbf{m}_{\infty,n} \geq (1+A)\sqrt{n}$ . In this paper we will show that  $\mathbf{m}_{\infty,n} < (1.1717)\sqrt{n}$  by using polynomials similar to those used in the main result.

Before proceeding with  $p > 2$ , let us see what happens when  $0 < p < 2$ . The inequality becomes reversed:  $M_p(f) \leq M_2(f) = (n+1)^{1/2}$ , and the corresponding quantity to be considered is  $\mathbf{M}_{p,n} = \max_{\{f\}} M_p(f)$  ( $f \in \mathcal{O}_n$ ). D. J. Newman [6] constructed polynomials  $P_n$  and proved the following lemma:  $M_4(P_n) = n^2 + O(n^{3/2})$ . He then used the lemma to prove that  $\mathbf{M}_{1,n}/\sqrt{n} \rightarrow 1$ , and, in fact,  $\mathbf{M}_{1,n} \geq \sqrt{n} - c$ . By (1), the same follows immediately for  $\mathbf{M}_{p,n}$ ,  $1 \leq p < 2$ . The result can be further extended to cover all  $p$ ,  $0 < p < 2$ , as follows.

From the Schwarz inequality we conclude that

$$\int |f|^2 \leq \left( \int |f|^{4-p} \right)^{1/2} \left( \int |f|^p \right)^{1/2}$$

which, applied to our present case, yields

$$M_p(P_n) \geq \frac{(M_2(P_n))^{4/p}}{(M_{4-p}(P_n))^{(4-p)/p}} \geq \frac{(n+1)^{2/p}}{(M_4(P_n))^{(4-p)/p}}$$

so that, applying the lemma, we obtain

$$\begin{aligned} M_p(P_n) &\geq \frac{(n+1)^{2/p}}{(n^2 + An^{3/2})^{(4-p)/4p}} > \frac{n^{1/2}}{(1 + An^{-1/2})^{(4-p)/4p}} \\ &> n^{1/2}(1 - (A/p)n^{-1/2}) > \sqrt{n} - A/p. \end{aligned}$$

We thus record the more complete result corresponding to the theorem in [6]:

$\mathbf{M}_{p,n} \geq \sqrt{n} - c/p$  ( $0 < p < 2$ ), where  $c$  is an absolute constant.

Yet another formulation of our original problem is as follows: Let  $\mathcal{F}_n$  be the class of all  $n$ th degree polynomials satisfying  $|\sum a_k z^k| \leq 1$  for  $|z| = 1$ . We now consider  $\mathfrak{M}_n = \max_{\{f\}} \sum |a_k|$  ( $f \in \mathcal{F}_n$ ). Using

the Schwarz inequality for sums, we have

$$\begin{aligned} \sum |a_k| &\leq ((n+1) \sum |a_k|^2)^{1/2} \\ &= (n+1)^{1/2} M_2(\sum a_k z^k) \leq (n+1)^{1/2} \end{aligned}$$

so that  $M_n \leq (n+1)^{1/2}$ . If we are to have near equality in both of the above estimates, then both  $|a_k|$  and  $|\sum a_k z^k|$  must be nearly constant. Beller and Newman [1] have indeed shown that  $M_n/\sqrt{n} \rightarrow 1$ .

**2. Main result.**

**THEOREM.**  $m_{p,n} \sim \sqrt{n}$ ,  $2 < p < \infty$ . In fact, for sufficiently large  $n$ ,  $(n+1)^{1/2} \leq m_{p,n} \leq \sqrt{n} + 2^{5p}(\log n)^{p-2}$ .

**REMARK.** In all that follows, the phrase “for sufficiently large  $n$ ” is to be understood. Its precise meaning is: for all  $n \geq K$ , where  $K$  is some absolute constant (not depending on  $p$  or  $N$ ).

**PROOF.** We use the same polynomials that Newman [6] constructed, namely

$$P_n(z) = \sum_{k=0}^n \exp(k^2 \pi i / (n+1)) z^k.$$

We will prove the following.

**PROPOSITION 1.** For  $N = 1, 2, \dots$ ,

$$M_{2^N}^{2^N}(P_n) \leq n^{2^{N-1}} + (32)^{2^{N-1}} n^{(2^{N-1}-1/2)} (\log n)^{(2^{N-1}-2)}.$$

The theorem follows directly from Proposition 1. Indeed for  $2^{N-1} \leq p < 2^N$ , we have

$$\begin{aligned} M_p(P_n) &\leq M_{2^N}(P_n) \leq \sqrt{n} + 2^{-N} (32)^{2^{N-1}} (\log n)^{(2^{N-1}-2)} \\ &< \sqrt{n} + 2^{5p} (\log n)^{p-2}. \end{aligned}$$

Before proving Proposition 1, we introduce the following notation. Given  $n$ , let  $\{a_N(k)\}$  be defined by

$$(2) \quad |P_n(e^{it})|^{2^N} = \sum_{k=-n2^{N-1}}^{n2^{N-1}} a_N(k) e^{ikt}, \quad N = 1, 2, \dots$$

For  $N \geq 2$ , the following relations are immediately evident:

$$(3) \quad \begin{aligned} a_N(0) &= \sum_{k=-n2^{N-2}}^{n2^{N-2}} |a_{N-1}(k)|^2; & a_N(j) &= \overline{a_N(-j)}, \\ a_N(j) &= \sum_{k=j-n2^{N-2}}^{n2^{N-2}} a_{N-1}(k) \overline{a_{N-1}(k-j)} & (j > 0). \end{aligned}$$

We now define

$$(4) \quad \begin{aligned} b_1(k) &= \sqrt{n} & (0 \leq k \leq \sqrt{n}), \\ &= n/k & (\sqrt{n} < k \leq n/2) \end{aligned}$$

$$(5) \quad b_1(n - k) = b_1(k) \quad (k \geq 0); \quad b_1(k) = b_1(-k).$$

For  $N = 2, 3, \dots$ ,  $b_N(k)$  is defined recursively:

$$(6) \quad b_N(k) = (n \log n)^{2^{N-2}} b_{N-1}(k) \quad (|k| \leq n2^{N-2});$$

$$(7) \quad b_N(n2^{N-1} - k) = b_N(k) \quad (k \geq 0),$$

$$(7) \quad b_N(k) = b_N(-k); \quad b_N(k) = 0 \quad (|k| > n2^{N-1}).$$

For  $0 \leq k \leq n$ , it follows from (6) that  $b_N(k) = (n \log n)^{(2^{N-1}-1)} b_1(k)$ , so that

$$(8) \quad \begin{aligned} b_N(k) &= n^{(2^{N-1}-1/2)} (\log n)^{(2^{N-1}-1)} & (0 \leq k \leq \sqrt{n}), \\ &= (n^{2^{N-1}}/k) (\log n)^{(2^{N-1}-1)} & (\sqrt{n} < k \leq n/2). \end{aligned}$$

Furthermore, it follows from (7) that

$$(9) \quad b_N(n2^m - k) = b_N(k) \quad (0 \leq k \leq n2^{m-1}; m = 0, 1, 2, \dots, N-1).$$

We now state the following

**LEMMA 1.** For  $N = 1, 2, \dots$ ,  $|a_N(k)| \leq 2^{-5} 3^{-N+1} (32)^{2^{N-1}} b_N(k)$  ( $k = 1, 2, \dots, n2^{N-1}$ ).

**PROOF OF PROPOSITION 1 AND LEMMA 1.** Let  $P(m)$  and  $L(m)$  denote the truth of Proposition 1 and Lemma 1, respectively, for  $N = m$ . The proposition and lemma will be proved simultaneously by induction:  $P(1)$  is trivial;  $P(2)$  and  $L(1)$  were proved by Newman [6]. Thus, it remains to be shown that  $P(N-2)$ ,  $P(N-1)$ , and  $L(N-2)$  together imply  $L(N-1)$  and  $P(N)$ .

For  $N \geq 2$ , by (2) and (3), we have

$$\begin{aligned} M_{2^N}^{2^N}(P_n) &= (1/2\pi) \int_{-\pi}^{\pi} (|P_n|^{2^{N-1}})^2 d\theta \\ &= |a_{N-1}(0)|^2 + 2 \sum_{k=1}^{n2^{N-1}} |a_{N-1}(k)|^2 \\ &= [M_{2^{N-1}}^{2^{N-1}}(P_n)]^2 + 2 \sum_{k=1}^{n2^{N-2}} |a_{N-1}(k)|^2. \end{aligned}$$

Applying  $P(N-1)$ , we obtain

$$(10) \quad M_{2^N}^{2^N}(P_n) \leq n^{2^{N-1}} + 2(32)^{2^{N-2}} n^{(2^{N-1}-1/2)} (\log n)^{(2^{N-2}-2)} \\ + (32)^{2^{N-1}} n^{(2^{N-1}-1)} (\log n)^{(2^{N-1}-4)} + 2 \sum |a_{N-1}(k)|^2.$$

Now, if we let  $\sum'$  denote the summation excluding  $j=0$  and  $j=k$ , then by (3),  $L(N-2)$ ,  $P(N-2)$ , and (6), it follows that

$$|a_{N-1}(k)| \leq \sum'_{j=k-n}^{n} |a_{N-2}(j)a_{N-2}(j-k)| + 2|a_{N-2}(0)a_{N-2}(k)| \\ \leq 2^{-10} 3^{-2N+6} (32)^{2^{N-2}} \sum'_{j=k-n}^{n} b_{N-2}(j)b_{N-2}(j-k) \\ + \left( \frac{2^{-4} 3^{-N+3} (32)^{2^{N-3}}}{(\log n)^{2^{N-3}}} + \frac{2^{-4} 3^{-N+3} (32)^{2^{N-2}}}{(n^{1/2} \log^2 n)} \right) b_{N-1}(k).$$

Set  $c_N(k) = \sum'_{j=k-n}^{n} b_{N-1}(j)b_{N-1}(j-k)$ . We need the following inequality:

$$(11) \quad c_N(k) \leq (1.16) 3^N b_N(k) \quad (k = 0, 1, 2, \dots, n2^{N-1}; N = 2, 3, \dots).$$

Assuming (11), we have

$$|a_{N-1}(k)| \leq (1.16) 2^{-10} 3^{-N+5} (32)^{2^{N-2}} b_{N-1}(k) \\ \cdot \left( 1 + \frac{7}{(32 \log n)^{2^{N-3}}} + \frac{7}{n^{1/2} \log^2 n} \right) \\ \leq 2^{-5} 3^{-N+2} (32)^{2^{N-2}} b_{N-1}(k),$$

i.e.,  $L(N-1)$  holds.

PROOF OF (11). We will first prove a preliminary fact, namely,

$$(12) \quad c_N(k) \leq (.58) 3^N b_N(k) \quad (k = 0, 1, 2, \dots, n2^{N-3}; N = 2, 3, \dots).$$

We proceed by induction. First we show that (12) is true for  $N=2$ . By the Schwarz inequality, and (4), (5), we have

$$c_2(k) \leq \left( \sum_{j=k-n}^n b_1^2(j) \sum_{j=k-n}^n b_1^2(j-k) \right)^{1/2} = \sum_{j=k-n}^n b_1^2(j) \leq \sum_{j=-n}^n b_1^2(j) \\ \leq 4 \sum_{0 \leq j \leq \sqrt{n}} n + 4 \sum_{\sqrt{n} < j \leq n/2} n^2/j^2 \leq 4n^{3/2} + 4n^2((\sqrt{n}-1)^{-1} - 2n^{-1}) \\ \leq 8n^{3/2}.$$

Thus, for  $0 \leq k \leq \sqrt{n}$ , we have  $c_2(k) \leq 8n^{3/2} \leq n^{3/2} \log n = b_2(k)$ , while for  $\sqrt{n} < k \leq 2\sqrt{n}$ , we have  $c_2(k) \leq 8n^{3/2} \leq 16n^2/k \leq (n^2 \log n)/k = b_2(k)$ .

Before proceeding, let us note that

$$\begin{aligned}
 c_N(k) &= 2 \sum_{j=(k/2)+1/2}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j-k) && (k \text{ odd}), \\
 &= b_{N-1}^2(k/2) + 2 \sum_{j=(k/2)+1}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j-k) && (k \text{ even}).
 \end{aligned}$$

Now, for  $2\sqrt{n} < k \leq n/2$ , if  $k$  is, say, odd, we have

$$\begin{aligned}
 \frac{1}{2}c_2(k) &= \sum_{j=(k/2)+1/2}^n b_1(j)b_1(j-k) = n \sum_{(k/2)+1/2 \leq j \leq n/2} j^{-1}b_1(j-k) \\
 &+ n \sum_{n/2 < j < n-\sqrt{n}} (n-j)^{-1}b_1(j-k) + \sqrt{n} \sum_{n-\sqrt{n} \leq j \leq n} b_1(j-k).
 \end{aligned}$$

We consider two cases separately:

(I)  $2\sqrt{n} < k \leq (n/2) - \sqrt{n}$ . In this case,

$$\begin{aligned}
 \frac{1}{2}c_2(k) &= n^2 \sum_{(k/2)+1/2 \leq j < k-\sqrt{n}} j^{-1}(k-j)^{-1} + n^{3/2} \sum_{k-\sqrt{n} \leq j \leq k+\sqrt{n}} j^{-1} \\
 &+ n^2 \sum_{k+\sqrt{n} < j \leq n/2} j^{-1}(j-k)^{-1} + n^2 \sum_{n/2 < j \leq k+(n/2)} (n-j)^{-1}(j-k)^{-1} \\
 &+ n^2 \sum_{k+(n/2) < j < n-\sqrt{n}} (n-j)^{-1}(n-j+k)^{-1} \\
 &+ n^{3/2} \sum_{n-\sqrt{n} \leq j \leq n} (n-j+k)^{-1}.
 \end{aligned}$$

Let us consider the first summation. Applying the inequality

$$\begin{aligned}
 \log(N/(M-1)) - \frac{1}{2}(M-1)^{-1} \\
 \leq \sum_{j=M}^N (1/j) \leq \log(N/(M-1)) + \frac{1}{2}N^{-1},
 \end{aligned}$$

we obtain

$$\begin{aligned}
 n^2 \sum_{(k/2)+1/2 \leq j < k-\sqrt{n}} j^{-1}(k-j)^{-1} \\
 &= (n^2/k) \left( \sum_{(k/2)+1/2 \leq j < k-\sqrt{n}} (1/j) + \sum_{\sqrt{n} < j \leq (k/2)-1/2} (1/j) \right) \\
 &\leq (n^2/k) \left( \log\left(\frac{k-\sqrt{n}}{\sqrt{n}-2}\right) + \frac{1}{2}n^{-1/2} + \frac{1}{2}(\sqrt{n}-\frac{1}{2})^{-1} \right) \\
 &\leq (n^2/k)(\log(\sqrt{n}/2) + (4/\sqrt{n})) \leq (n^2/2k) \log n.
 \end{aligned}$$

In a similar manner (making use also of the estimate  $\log(1+x) < x$ ,  $x > 0$ ), one can find upper bounds on the other five summations, so that we end up with the estimate  $\frac{1}{2}c_2(k) \leq (2.6)(n^2/k)\log n$ .

(II)  $n/2 - \sqrt{n} < k \leq n/2$ . In this case,  $\frac{1}{2}c_2(k)$  breaks up into six summations which are a bit different from those in case (I). Here too, it can be verified that  $\frac{1}{2}c_2(k) \leq (2.6)(n^2/k)\log n$ .

If  $k$  is even ( $2\sqrt{n} < k \leq n/2$ ), then

$$c_2(k) = n^2/k^2 + \sum_{j=(k/2)+1}^n b_1(j)b_1(j-k),$$

and the same bound can again be gotten for  $c_2(k)$ . Thus, for  $0 \leq k \leq n/2$ ,  $c_2(k)$  satisfies  $c_2(k) \leq (5.2)b_2(k)$ , i.e., (12) holds for  $N=2$ .

Let us assume, now, that (12) holds for  $N-1$ . For  $0 \leq k \leq n2^{N-3}$ , if  $k$  is, say, odd, then by (6) and (7) we have

$$\begin{aligned} \frac{c_N(k)}{(n \log n)^{2N-2}} &= \frac{2}{(n \log n)^{2N-2}} \sum_{j=(k/2)+1/2}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j-k) \\ &= 2 \sum_{j=(k/2)+1/2}^{n2^{N-3}} b_{N-2}(j)b_{N-2}(j-k) \\ &\quad + 2 \sum_{j=n2^{N-3}+1}^{k+n2^{N-3}} b_{N-2}(n2^{N-2}-j)b_{N-2}(j-k) \\ &\quad + 2 \sum_{j=k+n2^{N-3}+1}^{n2^{N-2}} b_{N-2}(n2^{N-2}-j)b_{N-2}(n2^{N-2}-j+k) \\ &= 2 \left\{ \sum_{j=(k/2)+1/2}^{n2^{N-3}} + \sum_{j=1}^{n2^{N-3}} \right\} b_{N-2}(j)b_{N-2}(j-k) \leq 3c_{N-1}(k) \\ &\leq 3(.58)3^{N-1}b_{N-1}(k) \\ &= \frac{(.58)3^N b_N(k)}{(n \log n)^{2N-2}}. \end{aligned}$$

The same can be seen to hold if  $k$  is even. Thus,  $c_N(k) \leq (.58)3^N b_N(k)$ , which proves (12).

We now prove a somewhat weaker form of (11), namely

$$(13) \quad c_N(k) \leq (1.16)3^N b_N(k) \quad \text{for } 0 \leq k \leq n2^{N-2}.$$

Let  $0 \leq k \leq n2^{N-3}$ . Then

$$\begin{aligned}
 c_N(n2^{N-2} - k) &= \sum_{j=-k}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j+k-n2^{N-2}) \\
 &= \sum_{j=-k}^{n2^{N-2}-k} b_{N-1}(j)b_{N-1}(j+k) \\
 &\quad + \sum_{j=n2^{N-2}-k+1}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j+k-n2^{N-2}) \\
 &= \left\{ \sum_{j=k-n2^{N-2}}^k + \sum_{j=0}^{k-1} \right\} b_{N-1}(j)b_{N-1}(j-k) \leq 2c_N(k) \\
 &\leq (1.16)3^N b_N(k) = (1.16)3^N b_N(n2^{N-2} - k)
 \end{aligned}$$

by (12), thus proving (13).

Finally, for  $0 \leq k \leq n2^{N-2}$ , we have

$$\begin{aligned}
 c_N(n2^{N-1} - k) &= \sum_{j=n2^{N-2}-k}^{n2^{N-2}} b_{N-1}(j)b_{N-1}(j+k-n2^{N-1}) \\
 &= \sum_{j=-k}^0 b_{N-1}(j+n2^{N-2})b_{N-1}(j+k-n2^{N-2}) \\
 &= \sum_{j=0}^k b_{N-1}(j)b_{N-1}(j-k) \\
 &\leq c_N(k) \leq (1.16)3^N b_N(k) = (1.16)3^N b_N(n2^{N-1} - k)
 \end{aligned}$$

by (13), which proves (11).

Returning to the proof of Proposition 1, we note that it follows from (9) that

$$\sum_{k=1}^{n2^{N-2}} b_{N-1}^2(k) = 2^{N-1} \sum_{k=1}^{n/2} b_{N-1}^2(k).$$

Thus, applying  $L(N-1)$ , we obtain

$$\begin{aligned}
 2 \sum_{k=1}^{n2^{N-2}} |a_{N-1}(k)|^2 &\leq 2^{-9} 3^{-2N+4} (32)^{2^{N-1}} \sum_{k=1}^{n2^{N-2}} b_{N-1}^2(k) \\
 &= 2^{N-10} 9^{-N+2} (32)^{2^{N-1}} \sum_{k=1}^{n/2} b_{N-1}^2(k).
 \end{aligned}$$

Combining this with (8), we get



$$2 \sum_{k=1}^{n^{2N-2}} |a_{N-1}(k)|^2 \leq 2^{-8}(2/9)^{N-2}(32)^{2N-1} \cdot \left\{ \sum_{1 \leq k \leq \sqrt{n}} n^{(2N-1-1)}(\log n)^{(2N-1-2)} + \sum_{\sqrt{n} < k \leq n/2} (n^{2N-1}/k^2)(\log n)^{(2N-1-2)} \right\} \leq 2^{-7}(2/9)^{N-2}(32)^{2N-1} n^{(2N-1-1/2)}(\log n)^{(2N-1-2)}.$$

Combining this with (10), we obtain

$$M_{2^N}^{2^N}(P_n) \leq n^{2^{N-1}} + 2^{-7}(32)^{2^{N-1}} n^{(2^{N-1}-1/2)} (\log n)^{(2^{N-1}-2)} \cdot \left\{ (2/9)^{N-2} + \frac{2^8}{(32 \log n)^{2^{N-2}}} + \frac{2^7}{n^{1/2} \log^2 n} \right\} \leq n^{2^{N-1}} + (32)^{2^{N-1}} n^{(2^{N-1}-1/2)} (\log n)^{(2^{N-1}-2)},$$

which proves Proposition 1 (and Lemma 1).

**3. An upper bound for the minimum of the sup norm.**

**PROPOSITION 2.**  $m_{\infty, n} < (1.1717)\sqrt{n}$  for sufficiently large  $n$ .

**PROOF.** Let  $\mathfrak{F}(x, y) = \int_x^y \exp(\frac{1}{2}\pi u^2 i) du$ , so that  $\mathfrak{F}(0, x)$  is the familiar Fresnel integral. Let  $A > 0$  be the value of  $x$  for which  $|\mathfrak{F}(-\infty, x)|$  is a maximum, and let  $M$  be that maximum:  $M = 1.6566 \dots$ , so that  $M/\sqrt{2} = 1.1716 \dots$ . Proposition 2 follows directly from the following

**LEMMA 2.** *Let*

$$P_n(z) = \sum_{k=0}^n \exp\left(\frac{k^2 \pi i}{a_n(n+1)}\right) z^k,$$

where  $a_n = 1 + (n+1)^{-1/4}$ . Then

$$\max_{|\theta|} |P_n(e^{i\theta})| = (M/\sqrt{2})\sqrt{n} + O(n^{1/4}).$$

**PROOF OF LEMMA 2.** Let

$$F_\theta(u) = \exp\left(\frac{u^2 \pi i}{a_n(n+1)} + i\theta u\right)$$

so that  $P_n(e^{i\theta}) = \sum_{k=0}^n F_\theta(k)$ . Let  $f_\theta(u) = u^2/(2a_n(n+1)) + u\theta/(2\pi)$ , so that  $F_\theta(u) = e^{2\pi i f_\theta(u)}$ . Now for  $\theta$  satisfying

$$(14) \quad -\pi - \pi/a_n \leq \theta < \pi - \pi/a_n$$

we have  $|f'_\theta(u)| \leq 1 - \frac{1}{2}(1 - 1/u_n)$  for  $u$  in the interval  $[0, n+1]$ .

REMARK. From now on, it is understood that  $\theta$  satisfies (14).

Since, furthermore,  $f'_\theta(u)$  is monotone, we can apply the following lemma of van der Corput, which we state in the notation of Zygmund [7, p. 198], although in somewhat greater generality.

LEMMA 3. *If  $f'(u)$  is monotone and  $|f'| \leq 1 - \epsilon$  in  $(a, b)$  ( $0 < \epsilon < 1$ ), then  $|D(F; a, b)| \leq A/\epsilon$ , where  $A$  is an absolute constant.*

(Zygmund proves it for the case  $\epsilon = \frac{1}{2}$ , by showing that  $D$  numerically does not exceed  $1 + (2/\pi) \sum_{n=1}^{\infty} n^{-1}(n - \frac{1}{2})^{-1}$ . It is not hard to see that for any  $\epsilon$ , the bounding series becomes  $(4/\pi) \sum_{n=1}^{\infty} n^{-1}(n - 1 + \epsilon)^{-1}$ . Since the first term of the series is  $1/\epsilon$  and the sum of the remaining terms is less than 1, Lemma 3 follows immediately.)

In our case, Lemma 3 yields

$$(15) \quad \left| \int_0^{n+1} F_\theta(u) du - \sum_{k=0}^n F_\theta(k) \right| \leq \frac{2A}{1 - 1/a_n} < 4An^{1/4}.$$

Now, by making the change of variables  $v = (2/a_n)^{1/2}(n+1)^{-1/2}u + (\theta/\pi)(\frac{1}{2}a_n(n+1))^{1/2}$ , we have

$$(16) \quad \int_0^{n+1} F_\theta(u) du = (\frac{1}{2}a_n(n+1))^{1/2} e^{ia} \mathfrak{F}(t, (2/a_n)^{1/2}(n+1)^{1/2} + t),$$

where  $t = (\theta/2\pi)(2a_n(n+1))^{1/2}$  and  $a$  is real.

We now show that

$$(17) \quad \max_{\{t\}} |\mathfrak{F}(t, (2/a_n)^{1/2}(n+1)^{1/2} + t)| = M + O(n^{-1/2}).$$

In accordance with the Remark, the maximum is taken over all  $t$  satisfying

$$(18) \quad -2^{-1/2}(n+1)^{1/2}(a_n^{1/2} + a_n^{-1/2}) \leq t < 2^{1/2}(n+1)^{1/2}(a_n^{1/2} - a_n^{-1/2}).$$

Before proving (17), let us note that by making the change of variables  $v = u^2$  and integrating by parts, we get

$$\mathfrak{F}(x, \infty) = (\pi x)^{-1} i \cdot \exp(\frac{1}{2}\pi x^2 i) + O(x^{-3}),$$

so that for sufficiently large  $x$ ,

$$(19) \quad |\mathfrak{F}(x, \infty)| < (3x)^{-1}.$$

Now let  $t_n$  be a value of  $t$  for which  $|\mathfrak{F}(t, (2/a_n)^{1/2}(n+1)^{1/2} + t)|$

attains its maximum. Since  $\mathfrak{F}(x, y) = \mathfrak{F}(-y, -x)$ , we may assume that  $t_n \leq -(2/a_n)^{1/2}(n+1)^{1/2} - t_n$ , i.e.,

$$(20) \quad t_n \leq -(2a_n)^{-1/2}(n+1)^{1/2}.$$

If  $n$  is sufficiently large so that  $-A$  is greater than the lower bound in (18), then by (19) we have, on the one hand,

$$\begin{aligned} & \left| \mathfrak{F}(t_n, (2/a_n)^{1/2}(n+1)^{1/2} + t_n) \right| \\ & \geq \left| \mathfrak{F}(-A, (2/a_n)^{1/2}(n+1)^{1/2} - A) \right| \\ & \geq \left| \mathfrak{F}(-A, \infty) \right| - \left| \mathfrak{F}((2/a_n)^{1/2}(n+1)^{1/2} - A, \infty) \right| \\ & \geq M - \frac{1}{3((2/a_n)^{1/2}(n+1)^{1/2} - A)} \geq M - \frac{1}{3}n^{-1/2}, \end{aligned}$$

and on the other hand, by (19) and (20),

$$\begin{aligned} & \left| \mathfrak{F}(t_n, (2/a_n)^{1/2}(n+1)^{1/2} + t_n) \right| \\ & \leq \left| \mathfrak{F}(-\infty, (2/a_n)^{1/2}(n+1)^{1/2} + t_n) \right| + \left| \mathfrak{F}(-\infty, t_n) \right| \\ & \leq \left| \mathfrak{F}(-\infty, A) \right| + \frac{1}{3} |t_n|^{-1} \leq M + \frac{1}{2}n^{-1/2} \end{aligned}$$

for sufficiently large  $n$ , which proves (17).

Combining (15), (16), and (17), we obtain

$$\begin{aligned} \max_{\{\theta\}} \left| P_n(e^{i\theta}) \right| &= 2^{-1/2}(1 + (n+1)^{-1/4})^{1/2}(n+1)^{1/2}M + O(n^{1/4}) \\ &= (M/\sqrt{2})\sqrt{n} + O(n^{1/4}). \end{aligned} \quad \text{Q.E.D.}$$

#### REFERENCES

1. E. Beller and D. J. Newman, *An  $l_1$  extremal problem for polynomials*, Proc. Amer. Math. Soc. **29** (1971), 474-481.
2. P. Erdős, *Some unsolved problems*, Michigan Math. J. **4** (1957), 291-300. MR **20** #5157.
3. J. E. Littlewood, *On the mean values of certain trigonometrical polynomials*, J. London Math. Soc. **36** (1961), 307-334. MR **25** #5331a.
4. ———, *On the mean values of certain trigonometrical polynomials*. II, Illinois J. Math. **6** (1962), 1-39. MR **25** #5331b.
5. ———, *Some problems in real and complex analysis*, D. C. Heath, Lexington, Mass., 1968. MR **39** #5777.
6. D. J. Newman, *An  $L^1$  extremal problem for polynomials*, Proc. Amer. Math. Soc. **16** (1965), 1287-1290. MR **32** #2589.
7. A. Zygmund, *Trigonometric series*, 2nd rev. ed., Cambridge Univ. Press, New York, 1959. MR **21** #6498.

YESHIVA UNIVERSITY, NEW YORK, NEW YORK 10033

NEWARK COLLEGE OF ENGINEERING, NEWARK, NEW JERSEY 07102